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tOEE g & A MRFEIBE | om o mm| B ®R RE| R BR JEG
5 100m 1 BE OEH HHXE 3 | 85 | +25 10 ” 50 1| +241 10 7 51 3| +29 10" 52 6
B  100m 4 BER RIE GFEFE#HRSE 2 | 85 | +1 10 7 52 1| +29 10 7 44 2| +2.9 10 7 43 3
5 100m 5 AR B N 3 85 | +23 107”7 70 2| +29 10”7 65 7
£  200m 5 BE OEH BEHEXE 3 | 87 | +30 21" 80 6
B  200m 6 EX BlE FEZEKRE 2 | 87 | +16 217 45 3| +05 217 49 6
B  400m 1 ¥ EX JUBER 3 | 84 47 " 81 1 47" 68 1 48" 24 8
B  400m 2 k% BB iR 3 | 84 49 7 58 7
B  400m 3 kKB HiE JIBER 2 | 84 48 " 89 3
B  800m 3 TE E& TEE 3 | 86 1’ 54" 76 3 17 577 94 6
B  800m 4 ailo HEk#gE 3 | 86 1’ 557 37 2 17 59" 20 7
B  800m 6 AH E3} pE IS 3 | 86 1’ 577 18 3
B 1500m 1 B2 hiE TEBEER 3 [84:5 3’ 56" 34 3 3753”750 10
B  1500m 4 Bl 48 RIS 3 | 84 4’ 07”799 13
B 5000m 1 B2 i TEBEER 3 (867 14’ 34" 08 7 167 327 41 18
2  5000m 3 ARHE #® )] 3 | 86 157 00" 83 13
B 110mH 3 wmE HR Ul 3 | 88 | -14 147 92 5
B 400mH 1 £H E#H 8 F 3 |85-6 52 7 98 3 52 7 23 4
2 400mH 2 EoF I VN RBe— 3 | 85 54 " 61 5
B 400mH 4 F Wt KER 3 | 85 54" 12 4
B 8000mSC 5 e 3 mamiz 3 | 87 9’ 58" 67 16
2 5000mW 1 ET K& BE 3 | 85 237 247 40 15
B 5000mW 2 HE ik xg 3 | 85 247 117 37 14
B  5000mW 4 N BE RETE 3 8.5 227 40”7 88 11
B 4x100mR 2 FHE 8.4 40" 73 2| CAR tHRQ2) =& WAQ) ZEEFI3) [/ FHA)
B 4x100mR 2 FHE 8.5 | CAAX HIR(Q2) - =8 EAQ2) ZFF}F(3)-37E I?JZ(3>)| R 417 39 6
B 4%x400mR 4 BEX 8.7 3’ 217" 05 5| (HE AHEQ)-FE ERQ)-RE $1Q)- 3k 15EQ)
B 4x400mR 5 KEd 8.7 3’ 23" 52 7| Gk B ) 5K T8 H(3)-Ei2 EHQ)- 8K E3)
5 EE 3 Wmia FiE PE— 3 | 88 NM
5 Ea¥k 4 HWHE ZEPKX RE 1 8.8 NM
B ek 6 7 BA PE— 3 | 84 NM
5 EEk 2 R 2 AXEIL 3 | 85 | +24 7mi9
5 EEk 5 IR 3 & 3 | 85 | +1.2 7m23 +1.5 7 m 30 8
5 EmEk 6 JEED YREE jawmiZ 3 | 85 | -02 7m21 +0.6 Tmit 11
B =EREk 1 BE XK A 3 | 87| -10 14 m 37
5 KM% 2 H & £ 3 | 87 | +34 14m64 10
5 =K% 3 INE B =X 3 | 87 | -04 14mo04 20
5 A% 2 fEH XiE HEIEEE 3 | 86 13m92 17
5 A 3 KiE BARE HEELE 3 | 86 13m21 28
3 F#gi% 2 KiE BARE HEELE 3 | 88 41 m 88 9
B A% 1 fEH KXiE HEIEEE 3 | 84 52 m26 18
E:] PYE 2 HE FH BIlfeE 3 | 85 53 m46 22
5 HY% 5 Bk X R 3 | 85 54 m39 17
B J\ER 1 7 i gF 3 [84:5 5259 5 13
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£ #E gy K& PR FEIBR g op mm|Em me e |R B8 R
= 100m 1 ER 7t-47- 0 KEER 3 85 | +29 117 95 2| +1.2 127 02 7

kg 100m 2 kg RKE 2F 3 85 | +1.9 11”7 86 1| +1.0 117 95 5

S 100m 3 AR —E BEF 3 85 | +22 117 93 2| +1.2 117 86 3

E:S 200m 1 =HE 7t-95- KEER 3 87 | +14 247 71 2| +06 247" 30 4

%  200m 4 A —E BEX 3 | 87| +13 247 30 2| +06 247 19 4] +13 247 31 7
£ 200m 5 kg RXE EF 3 87 | +24 24" 89 4

= 400m 1 &% BARF FMEERE 3 8.4 55”7 70 1 55 " 34 4

k4 400m 2 b BEFR 3 8.4 55”7 80 2 55 ” 55 5

i 400m 3 K W= BEX 2 8.4 55 7 50 2 56 7 23 4

%  400m 4 IWE fE AER 2 8.4 56 " 19 4 57" 77 7

%  800m 1 BH 8% HREAK= 3 | 86 2’ 157 96 5

kg 800m 2 AT #I Epd 1 8.6 2’ 13719 2 2’ 15" 55 7

£ 800m 3 AP EX 2F 1 8.6 2’ 10 7 57 2 2’ 147 96 6

S 800m 6 E=RES BEX 3 8.6 2’ 117 34 2 2’ 19" 76 8

% 1500m 2 HH  OEK AER 3 8.4 4’ 38" 68 13

Z  1500m 3 T MR & 2 8.4 4’ 297 52 5

&  3000m 4 mx S gEF 2 | 87 9’ 477 15 13

Z  3000m 6 PR RE BER 2 8.7 107 01”57 11

Z  100mH 3 i BE BEX 2 88 | -27 147 73 3

Z  100mH 4 =% BE FriRAL 3 88 | 27 14”7 69 5

& 100mH 6 Ay HH EHABE 2 88 | -1.3 147 96 6

& 400mH 2 Bk KZF BEFR 3 |85-6 17 00" 40 1 59 7 86 3 59 " 96 8
%  400mH 3 KE RER KER 3 8.5 17 027 42 3

% 400mH 4 BiE R gF 3 |856 17 01" 09 2 17 00" 70 4

%  400mH 5 INIL R E R 3 8.5 17 037 95 5

Z  400mH 6 IS IELS =hn 3 | 85 17 05”7 67 7

% 5000mW 1 B XRE AR 3 [84:5 247 36" 12 4 DQ
Z  5000mW 3 kB # AER 3 |84-5 247 377 29 9 257 287 11 13
Z  5000mW 4 Y X SEMNEE 3 |84-5 247 267 34 7 23’ 58" 55 8
% 4%x100mR 2 BEE 8.4 46 " 43 1| (K& <B%E0)-18E 1%2)-Fith BEQ)- K —Z@Q)
X 4x100mR 2 BEX 85 | (KB <BxX()-#E K2 Fith BEQ)-#HK —F@Q)| %R 457" 95 2
% 4x100mR 2 BEE 86 | (K& <BHX()-E 18(2)-Fith BEQ)-HAK —FQ)| KRB 467 21 5
X 4x400mR 1 BEX 8.7 3’ 467 19 1| &k RZE) - EH FRE) KB BZ2)- 2RI BHETH(1)
% 4%X400mR 2 RKEE 8.7 3’ 49”7 75 2| GIIE $E(2)- K% RLEEQ)- B4R #£0)- = 7E-45Y-0)
T 4Xx400mR 5 2% 8.7 3’ 50”7 08 3| (AiE FRARG)- Pk BAR(2)- 8K EHI3) - /\ I FEZE®R))
% 4X400mR 6 FEPERE 8.7 3’ 55" 54 3| (B0 B5(3)- BB MM EWQ)- LB EHEQ) - FF £E(©2)
L 4x400mR 1 BEFR 8.8 |(&Mk RZ(3)-HH FRE)- K —FEQ)-KF IHmEQ2)|#R 3 * 47 7 76 1
& 4x400mR 2 N 8.8 | GIIE EQ)-BR 7t-57)-(3)- X EF RLEZQ)- AR Q) [#r 3~ 54 7 90 7
T 4x400mR 5 g 8.8 |[(FZFE AR th#k BKR(2)-HA FEH3) /B FEZEQ)| %R 3 7 55 7 51 7
% 4%X400mR 1 BEX 8.8 |(EMKk RE(3)-HH FREO)- 8K —FQ)- KE WMLk 3 ' 43 7 94 2
T E = Bk 1 M8 = BEX 1 8.4 1 m 67 1 1 m70 6
Z  EEk 3 EH #HE K 1 8.4 NM

ES E = Bk 4 IR BT A% 3 8.4 NM

ES E bk 6 =g EF BER 3 8.4 1 m 67 5 1m67 11
Z  EEk 1 LT FE— 2 | 87 NM
Z  EEbk 3 BA mHE AR 3 8.7 3m40 17
= EE Bk 4 AiE 2 FE— 3 8.7 3m50 10
= ENZ Bk 1 CIESAES TERRFER 2 86 | +1.6 5m67 15

= E = Bk 2 k% &R BEX 3 86 | +20 5 m 87 4 +0.9 5m81 11
E:S ENZ Bk 5 mE 15 BEX 2 86 | +30 5m80 11 +1.0 5m 86 9
= E Nz Bk 6 NG BB oy 3 86 | +1.7 5m64 18

= =Bk 1 BT &HX ®Eg 3 8.8 +0.7 12mo00 14
= =127 2 e ER op=] 2 8.8 +4.4 12mo08 10
ES =k 3 WA % ey 3 8.8 +0.8 11mb57 27
Z  fahik 1 HE HE ARE 2 | 85 11m89 12

Z  Rh% 4 ok ER BARE 3 85 11ms5 17

=S P s 1 fElE BXK gF 3 8.6 38m72 18

T MR 3 tH #BE HEEEE 3 | 84 41 m83 34

Z 1R 4 Big BEE NIy 3 8.4 38m49 39

S PYUE 5 EE BE TEBRfER 2 8.7 43 m 63 9

S U 6 HE FE mRE 2 8.7 39m73 21

Z  EREHRR 3 x5 AF PNCES 3 |86'7 4119 & 24

FRRAES 64 BEX 178




